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moA i iR it oA i iR it
b ¥ & 46 3 10,156 1,028 670 215,017
H & 9 1 2,571 183 119 38,839
a F 4 3 2,486 139 144 36,062
EEE? 27 4 5,122 587 292 74,115
;) H 6 3 1,721 150 121 27,689
B 11 1 2,389 141 105 31,528
wm 26 1 4,403 524 191 57,671
KW 14 0 3,682 296 151 37,768
T 5 2 2,660 111 80 31,217
"B 4 0 2,355 88 81 21,698
B OE 31 4 5,185 381 225 59,729
T 2 23 6 4,750 422 226 61,568
O 46 2 7,530 684 341 102,250
o Zx )l 24 3 5,929 355 211 67,458
oW 9 4 3,063 193 202 37,392
L 4 0 1,765 79 57 21,225
Feall 8 2 1,713 94 53 19,413
wm 4 1 1,740 78 74 19,436
i A 1 2 1,527 83 64 19,345
£ B 8 1 2,566 102 87 29,610
gz . 10 2 2,546 226 109 31,480
L 11 5 4,063 190 139 41,301
S| 25 1 5,570 502 144 70,369
= | 17 1 2,930 186 109 27,665
W B 7 1 2,375 98 62 20,292
Il 14 1 4,502 181 92 37,953
N 76 9 12,355 623 255 132,301
O 39 6 8,228 382 263 81,195
= B 9 1 2,711 103 59 18,034
oAk 3 1 2,265 67 62 24,070
5 2 3 943 61 44 15,387
R 4 3 1,299 52 44 20,721
[ 12 3 2,525 129 80 28,928
= 21 1 4,050 253 114 50,905
o 9 1 2,321 141 82 32,716
s 5 1 2,328 96 66 26,241
s 4 1 1,299 102 35 14,757
s 10 0 2,385 109 127 33,153
mA 6 1 1,614 105 56 29,558
& [ 45 4 9,713 450 345 95,325
Vi 3 2 1,504 67 89 21,979
£ I 2 3 2,905 89 102 24,853
BE K 11 2 3,948 187 111 40,943
X 4 5 0 3,111 152 157 40,919
EELG 4 3 2,721 121 109 29,383
BE R 4 2 4,083 160 164 51,563
i 14 1 3,272 280 128 57,567
S 682 102 170,879 10,830 6,641 2,108,588
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